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[SECTION - (A)| [(i) GENERAL AWARENESS

I Meadquarters of TIND are sitnared at G Filaria is caused by
(A) New Yok, [ISA (A} Dactaria
{B} Maguc (Netherlands) (R} Mosguito
(C)  Gencya

{C)  I'rotozoq

D) Pari;
RSy (D) Vinis

2 T Zakir Hussain was

; : . == 7 Who was the fir lian Chicfl of & ;
(A)  the firsr Muoslim President of Indiz h'f, W:ﬁ o tl?’t Hcan F.]m Gy

: _ Statt af the Indian Army ?
(B) first Vice President of Indis e . 2

= , ) Gen. K. M Cattappa  —
(T}  first President of Indian Maticnal ‘ _’J R
Catgress {B) WVice-Admiral B D. Katari ‘

(D) first Speaker of Lak Sabha (C) Gen. Malwraja Rajendra Singhji

(D) Noue af the above \
3 G-13 is an coonemic grouping of
(A} First World Nalions
By Second World Malions
(C) Thiod World Mations
(D) Fourth World Mations

8 Coral reefs in India can be found in
(AF The cosst of Orissa
(M Waltair
i} Rameshwaram
4 Lodia's first Technicolour film in () Trivandrum
the early 19303 was produced by

r— =! v The Chiel Minister is appointed by
[AY 'Thansi K Tani' Schrab Modi

{B) ‘“Jhansi Ki Rani', Sir Syed Aluned
(C) Nirza Ghalit!, Sohrab Modi

(A) The Gavernor

(B)  The President |

AT § Ty S T |
(1% Mirza Ghalib’, Munshi Premchand (€ The Chief Justice of SHpreme Lo |
(D) The Chief Justice of High Courl ‘

l Lal Thabadur Shuystr

(A) succeeded Pandit Nelwu gs the | W Durand Cup is associated with (he

second Prime Minister of Tndia game of
(D) signed the Tashkent Agreement with (A) Cricket

' whan tor a cesselire barwes g f

f‘L}Lllh Khan .’mi & ceasclire berwean (B} TFootball
Indiza and Pakistan

M Y [ lockey

() 15 also known as "Man of Peace” (3 i

alaye (D) Volleykall

4 gkbgocprig3gkxsf_ dfomslmxix,|~{V@-€},
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14

Federation Cup, World Cup, Allywyn
International ‘Trophy and Challenge Cup
are awirded Lo winners of

(A Tennis

(B} Vollewball
(C) Baskethall
(D] Cnchel

Fire tzmple 15 the place of worship of
which of the following religion ?

(&) lacism

(B} Judaism
() Zorpastrianism =
(0 Shinteasm

The WYice-President 13 the ex-ollicio

Chairman of the

(A} Rajva Sabha

(B) Lok Sabha

(C) Planning  Commission

() MNatonal Development Counel

The ceone layer restricls

(AY Visible hght

(B) Infrared radiwton

{(C)  X-rays and Gamma rays
{D) Ulhtraviclet radiaton

Leology deals with

iA) Dirds
(B) Cell farmation
(1) Relation belween organisms  and

avironiment

rheir

i

gkbgocprig3gkxsf_qgp_mmxix,|~{yz€},
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Which is alleged ro be the bizgest scandal
of recent Lng ¢
(A) ISRO-Devag deal (2011)
(B 2G spectrum scam (20160)
() Coal blocks allotment (2012)
([} Indira Gandhi Tntermational Airpert

Seam (2012)
Emtomology s the science that studics
(A) Behaviour of human beings
By Tnaects
() The orgm and hastory of lechnical

and scientific rerms
{D} The tormation of rocks

|

For which of the following disaiplices is X "
Nobel Pnze awarded 7 |
(A} Physics and Chamistry '
{(B) Ihvsiology or Medicme |
{C1 Literature, Peace and Economics
{1} All of the zbove
Mumping s
(A) Seclling of poods abroad at a price

well helow the production cost at

the homa market price
(B} The process by which the supply

ot a mamtacturer's product remains

low in the domestic market, wluch

fetches him better price
(Cy  Prohibited by regulation of GATT
(D} All of the above
Feor the Olympics and Woald Tournaments,

the dimensions of basketball courl are

(A) Ztm = 14 m
(B) 28 m = 1% m
() 27 m = 16 m
(1) 28 m = 16 m

gkbgocprig3gkxsf_qgp_mmxix,|~{
| Coentd...
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(i) GENFRAL INTELLIGENCE & REASONI

21 Odometer i3 to mileags as compass 1s

Ty %

(A} spesd
12y hiking
()  nezdle

(D) dizection

“
'

22 Play is tw aclor ag concert 18 o
(A) symphony
(B) mwsician
{C) prano

i1} percussion

Fill the htank in the middle of the series or

end of the series :

23 SCD, TEF, UGH. . WKL
(A) CMM
(B) LI
© v
D) 1T

14 JAK. KBL, LOM MDN,

(A] OFP
(B) NEQ
{2y MEM

Ihe following guestion consists of « related
puir aof worids. followed By four paiss of
words, Chanse the pair that hest represents
a similar velationship 1o the one cxpressed in

the originel paiv of worids

25 TAILDR | SEITE

(A} selienie | agent
(B) edit .| manuscripk
(C) revise @ wriler

(D} mention - opinmion

26 Which word dess NOT belong with
the others 7

{A)  tulip
(R) rose
() bud

(D) dansy

It theve quesfion, a sertex is given, with
swissing ferm. Choose the correct alfernitive
fromt the given ones that will complete the

Wi h Tt h

]
|

Which ane set of letters when sequentially
olaced at the paps in the given letter
serics shall comgplete it 7

¢ _hd cheda a db a

{A) adabed

{(B) cdbbca

[ daabhc

(D} bdbeba

gkbgocprigq3gkxsf_gp_mmxix,|~{yz<€}
i [ Contd... [
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28 'The words
in the same WY fs
row. For each ien, find the w

completes the bottom

Candle lanip foodlich
hut cottage v

{A)  tent

(B} ity

(€} dwelling

(D) howse

i the biotiauy o are relateg
the wards in the top

rew of words,

xIx,|~{yz-€},

The followiay JHEstion consists of it refutod
it of words followed b W four pairs of words,
| Chivase ke pair that pesy Feprexents a similur
relationship o the one expressed iy rhe
ariginal poir of Werdy,

ard that

3 DIVISION - SECTION
(AY Tayer © tjer
(B) tether © Bundle
() chapter @ verse
(D} riger - Slage

Look carefully at the
Sind the puttern,

Seqitence of symbols 1o
Sefect correcy patiers,

2% Which woid does NOT Belong with (e
others ?
il ik 5 = 3l
# 5] =] ?
(B) fin
(C) beak .
']
1)
) mudder n =
e L]
{2" " t"-
The follving Yiestion kas an underlingd o el
word followed by four answer choices, You
will choose the werd that is 4 BECESSIY fram 3 kit ff o
of the wnderiipod Wited, ol N
! (4)
30 diploma (Certificary)
(A} principal (A) |
o : B) 2
(B}  curricalnm {8)
©Cy 3
(€  employmen| 2
3 - DI "rl . -
9k{b'gocprltl“""9k><5f—q'O—mmXIX’I {
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DUE\IU?

s 1]

(A 1
iy 2
(@) 3
am 4

3 Yard is to much as quart is to 2

(A wallon
(B) ounce
(Cy  mulk

(1 lig wid

35 Secrelly is to openly as silently 75 o
(A)  searcely
(B) impalitely

() noisily

() quictly

zrie} following question Jias o anderlined

word followed by four gaswer choces. You
will choose the word that is a pecessary part
of the underlined word.

36

19

410

book

Ay [fician
{B) pages
(Cy pictmes
{D} learmng

Which waord doss MOT belong with the
othors 7

{A) leopard

(B)y - couoad

(0 elephant

(D} hon

Reptile is to lizard as Hower 15 1 2
(A) petal

(B) slem

() daisy

(D alligaion

‘The following question has an underline
word lollowed by four answer cholees
Find the word that names 4 neccisary
part of the underlined word.

orehesing

(A wvinlin

(B) stage

() musician

(D) scloist

Look st this series © 5.2, 4.8, 44, 4,
Wha! number shonld come next ?

{AY 3
By 33
& 323

(I 3.6

gkbgocprigigkxsf_qgp_mmxix,|~{Jze€
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41

el

A szelid cobe with an edse of 10 cm is
melted to form vwo equal cubes. The ralio
of the edge of the smaller cube to the
edue of the bigger cube is

' ol 1
(A) 13

(Ay 12
(Cy 12l
() 1413

A circular ganden has a circumference of
440 m There i a T m wide border inzide
the garden along ils periphery, The arca
of the border is

(A} 2918 m*

(B) 2021 me

() 2024 m?

-

(I 29260 =

Nalades of am and Shyam  losetha
amount to Rs 12,000 Ram spends B0%
of tus salary and Shyam spends 90% of
his salary If their savings are the same.
then whal 1g the salary of Shyam ¢
(A) Rs 2040

(B) Rs 4000

(C) Rs %000

(D) Rs. 10,000

X owns 20% shares of a company. Y
awtis all the sharas of the same company
not wwned by X ar 24 awns 20% more
shares of the same company than what
5 owned by XN IE 2 has 36000 shares,
then how many shares are owned by Y7
(A} 30,000
(B} 36000
(L} BL0a0

| i}

45

46

14

‘lhe averaze of a saries of 20 numbers
i5 30, The difference between the highest
nmber and the smallest nember o the
series i3 7o, It the highest and the
smitllest numbers are excloded Tom the
series, then the average is 48, The lowest

number of 1he enginal sercs 18

(A} 23
(B) 27
() 30
(o) 42

An investor mvesled m lwo Lypes ol

bonds. Bond A snd Bend B, in the ratio
of 3 0 7. The milerest rate on Bond A i
12% and on Rond B, 0% Tf hz pets an
interest of Rs. 18,000 [rom Bond A, then
tha amount of investmeant in Bond B ia

(A Rs 1,50.000
(By Rs 3,00.000
() Es. 3,50,000

{13y Kz 300000

5

U x+8= —, then x 15 cgual to
:

(AT anr 3

{BY =5 ur 3

() 3oor s

DY 3 or 5

gkbgocpriq3gkxsf_qi)(_?”r“%'ﬂx,h{
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49

ab

o
fa—y

Acdriver has Lo drive anorher 120 kin (o
complete s top. So L. he has driven
at a speed of 60 koph for 3 hours, How
mugh tme should he take in completing
the: remaining part of his jowrney so as
o aftain an average speed of S0 kmph
for the entire jourmey ?

(A) | howr
(B 2 hours
(€13 hours
{3} 4 hours

-

Aocontainer is 35 ull T 6 liters ol water
is removed, then the contamer is 172 Gl
The total capacity of the container is

(A) o Titres
{H'} & litres
E_;:.'J l6 litres
(1) 24 litres

A specific type of doth vosts BRs 50 4
metre and a4 buver gets 8% discount
on the Lotal cost, if he buys 125 metres
The cost of 625

OF  ore, relres of

cloth 1s

(A Ra 25000
(BY Rs. 27250
(C) Rs. 28750
(13} Rs 30250

Al salary is 0% of B's salary which is
£3% of U salary. What percentage of U's
salary 13 A's aalary 7

(A) 59
()
Ly 153%

1h

22

54

The cost af T}-‘ (LS P L
kg and Type 2 rice is R 20 per

ke LI
both Tvpe | and 2 are mized in the ratio
of 233, then the price por kg of the mixad
vancly of tice is

{A) Rs 1800
(B) Rs 18.50
(€} Rs 19.00
(I} Rs [9.3)

A drcle has a circumferance cqual o the

perimeter of a syuure. The ratio of the '
radivs of the cirde to the side of the |
suare is |

gl = |
B 5 i

|
a0 = l

wuJ

{Ch

(D

A sum ol moeney st sinple interest

amonnts to Rs, 813 in J years and to Rs.

B34 im 4 yvemrs, The sum is ¢
(A) Rs. 630
{RB) Rs. 6%
(L) Hs obi

(D) Rs. 700
gkbgocpriq3gkxsf_la(pnmra_rlnxli
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55

The averase age of Magan and Chhagan
after 4 period o' § vears from now will
be 20 years Magan's present aue 18

| Z years, What s (el average age now ?

(A] 14
By 15
icy 10
) 17

If an amount of Ks. 150000 is shared

between A B oand O in the matio of
2+ 3 ;5 them A rcecives the same
amourt 35 he would receive il anolher
sum of money i shared between A, B
and € i the rationf 5 0 5 02 The ralio
of Rs. 1.50.000 Lo the second amount of

mMoney 13

Ay =3
(By 3 : 2
EN GG
[y 5

A pne-metre border, inside 8 rectangular
ficld of length and hreadth are Sm and
5m respectively, bas 1o be ploughed. 10
the coat of ploughing 13 Rs 20 per square
mete, then how oueh amount will be

spent in plonghing the enbre border 7

(£4) Rs 300
(B Hs 3440
() Rs 400

0 Rae 44D

55

an

Twe numhbers ard s
thrice the first number and twice Lhe
cecond mamber is 200 and twice the (st
uumber miaus thrice the second number

iz 25, The mumber are -

) 58, 25
(B) 50, 20
(€y 20, 25
(D) 20, 30

The wages of & worker are inereased hy
0% The increased wages ars reduced

hy 20%. Express the nel change in wages

ax a percenlage ol the orginal wapes
(A) 20% decrease

(B) <% decrease

() 4% Increase

(I3} 20% inerease

Eetan is 4 rimes as fast as Mayur in
completing any work. Mavur fakes
15 davs more than Ketan to fimsh the
same work. I both work together, then
in how nany days will the worlk he

completed 7

(A 3 days
Dy - davs
(Y 3 days
(D 20 davs

[ Contd...
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